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EDUCATION

ASSESSMENT AND EXAMINATIONS DIRECTORATE
Bundy Park, Private Bag 4571, King William’s Town, 5600
REPUBLIC OF SOUTH AFRICA, Website: www.ecdoe.gov.za

NSC 2016 CHIEF MARKER’S REPORT

SUBJECT | AGRICULTURAL SCIENCES
PAPER 2
| DATE OF EXAMINATION: | 21 NOVEMBER2016 | DURATION: | 2% |

SECTION 1: (General overview of Learner Performance in the question paper as a whole)

(a) The general performance for Agricultural Sciences P 2 is lower compared to the previous year.
Learner's performance has dropped this year.There is a slightly decrease in the number of
learners who obtained levels 4, 5,6 and 7.

(b) Section A : Question 1

e The performance has slightly improved, with few scored below 5 and the majority between 15
and 24 out of 45 marks.

e There are few cases of exceptionally good work with none scored a total of 45 marks.

c) SectionB:

e The majority of learners performed below average in Section B.

e QUESTION 2 had the lowest marks scored by the candidates, followed by QUESTION 3.
Learners performed poorly in these questions because they struggled with calculations,
formulation of hypothesis, embedded questions and the analysis of data response questions.

(d) Learners with a language barrier experienced problems in the answering of scenario type
Questions due to the nature of paper 2 that requires too much reading with understanding.

(e) Candidates who experienced difficulty in interpreting questions find it challenging to correctly
phrase their responses.

(f) Processing was mostly asked in the question paper, and that brought a confusion to the
learners because they never thought that a different answer is required, they repeatedly
provided the same answer whenever the term “ processing “ appears in the question paper.

2016 AGRS2 Chief Marker’s Report
Page 1 of 11

‘PGDP:

*  EASTERN CAPE ™
> i >

building blocks for growth Ikamva eligagambileyo!




SECTION 2: Comment on candidates’ performance in individual questions
(It is expected that a comment will be provided for each question on a separate sheet).

IQUESTION 1

[@) General comment on the performance of learners in the specific question. Was the
question well answered or poorly answered?

Average mark from the sample of 100 :
SUB-QUESTIONITOPIC OR ASPECT TESTED AVERAGE% FROM SAMPLE
1..1.10 e Genetics: -The picture for the chromosome  |e  48% Passed.
mutation looked as if it is on the progress rather|e  52% Failed
than being stable, as a result all the options
given fit to be used as the correct responses.
1.2.1 o Sustainable Agricultural Marketing: - A form | e  48% Passed
of sustainable measure directed at consumers | o 52% Failed
taking environmental concerns into
considerations.

1.3.2 e Financial Management Systems o 41% Passed
(Capital):- Movement of money for a specific o 59% Failed
period in a business.

14.3 e Genetics:- Using fats as carriers of a required | o 6% Passed
DNA through the cell membrane into the o 94% Failed
nucleus.

> Question 1 (Section A) was fairly answered by most of the candidates.
> The majority got between 15 and 25 marks out of 45 marks.

» Very few candidates scored above 40 marks in Question 1.

» Poorly performed questions are 1.17,1.1.10,1.2.1,1.3.5, and 1.4.3.

(b) Why was the question poorly answered? Also provide specific examples, indicate
common errors committed by learners in this question, and any misconceptions.

e The average performance in Question 1 may be caused by a number of factors such as :
Content gap and failure to cover the syllabus by both educators and the learners in various
schools, effective use of tuition time, inappropriate use of the revision time, ineffective drilling
of learners in subject concepts and terminology and the use of one textbook.

¢ In some sub questions the average performance might be caused by :
> Inability to choose the correct combination because of the way the question was

phrased in 1.1.4.

Unclear and ambiguous options to the statement and diagram in 1.1.10

In question 1.3.2 some learners wrote “capital flow” instead of “cash flow”.

Learners could not answer 1.3.3, Most were writing multiple / many genes and that is a

clear indication that candidates did not master the scientific agricultural concepts during

the year in their schools. |

Y VYV

2016 AGRS2 Chief Marker’s Report
Page 2 of 11

building blocks for growth. Tkamva eligagambileyo!



> In 1.3.5 candidates were giving inbreeding and did not write inbreeding depression as if]
was required.

> In 1.4.1 most learners could not differentiate between processing and value adding.

> Very few candidates answered 1.4.3 correctly, most of the candidates could nof
because the concept LIPOFECTION is only found in one textbook called the study and
the master.

[c) Provide suggestions for improvement in relation to Teaching and Learning

o Different prescribed agricultural textbooks must be used in schools by the learners and
educators.

e Pictures, graphs and calculations must be included in question 1 when classroom activities|
are given for the learners to get used in analysing and interpreting them.

e Educators should guide the learners on how to use past question papers with
understanding in order to provide the correct response.

e A comprehensive bank summary of concepts should be developed by both the subject]
advisers and the agricultural sciences educators for the learners.

(d) Describe any other specific observations relating to responses of learners

e Very few learners got marks for Question 1.4.3 because the answer is found in
study and master text book only.

e In 1.4.5 learners gave incorrect different responses such as inbreeding or
inheritance instead of inbreeding depression.

o Some learners left gaps in section A which is a clear evidence that the syllabus was
not finished in some schools.

le) Any other comments useful to teachers, subject advisors, teacher development etc.

e Educators should have a minimum of three to four different prescribed text books.

e They should make notes that are easy to read and understand to simplify the contenf
for the learners.

e District common assessment tasks that are up to the standard of the national papers
must be developed by both the subject advisers and the educators that are teaching|
the subject.

e Concepts must be taught in the way they are assessed when teaching the subject.

e Scientific approach must be used when teaching the subject and this must be
emphasised in order to develop scientific skills to our learners.

e Educators can prepare together, share the limited resources and skills they have for
teaching and learning.
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QUESTION 2

l@) General comment on the performance of learners in the specific question. Was the
question well answered or poorly answered?

Average mark from the sample of 100 : |

SUB-QUESTION [TOPIC OR ASPECT TESTED IAVERAGE% FROM SAMPLE
2.1.1(a) e Marketing function:- Products are taken |  54% Passed
from the farm to the market. o 46% Failed

211 (b) e Marketing function:- Products are kept |e 42% Passed
on a farm before they are transported. |e  58% Failed

2.1.2 (b) e Marketing function:- Products are kept |e 51% Passed
in a cool place to give them long shelf life.| ¢ 49% Failed

2.3.1 e Hypothesis:- Formulate a hypothesis. |e 58% Passed
o 42% Failed

252 o SWOT analysis:- Explain how the farmer|e  71% Passed
may use strengths and opportunitiesin  |e  29% failed

the schematic representation to improve

the enterprise.

> Question 2 was the worst poorly performed question by most of the learners with the lowest
score of zero and the average score of 7 marks.

> The highest score recorded is 25 marks.

> Candidates experienced difficulty in interpreting the questions as a result they could nof
correctly identify the responses from the scenario in 2.1 and the table in 2.2

> In Question 2.1.1 candidates could not identify the agricultural marketing functions from the
scenario as they were instructed, they wrote any marketing functions they know e.g. Physical
functions and facilitating functions, instead of writing Transportation for (a) and Storage for (b)

> In2.1.2, (b) learners could not answer the question well, instead of writing “cold storage” as an
economic term, most wrote “storage “only.

> In Question 2.2.4 learners could not clearly differentiate between the marketing strategy and
the marketing approach. Most candidates wrote free marketing instead of writing Marketing mix
as the correct answer. These Questions also confused the learners because the responses
they had to write were already given as answers to Question 2.2.3 as a result they thought that
a different answer is required.

» Question 2.3.1 was the worst poorly performed question by the candidates, because
hypothesis is not included in the Grade 12 ATP. Learners struggled to answer this question.
Candidates responded by writing the law of demand which is not the correct answer.

> In 2.4.1 learners did not understand what was asked, almost all responded by writing “Green
fresh cabbage “, instead of writing Green or Eco labelling. This was caused by the language)
barrier. The candidates confused the picture with an advert.
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> In Question 2.4.2 and 2.4.3 learners became confused and scored less marks because they
gave different responses from what was asked in the question paper.Both Questions 2.4.2 and
2.4.3 have the same answers.

» Candidates did very well in 2.5.1. They were able to link the statements correctly with the
aspects of SWOT analysis.

> In Question 2.5.2 Candidates attempted to give correct responses, but did not state clearly
which response correspond with strengths and which one correspond with opportunities.

> In Question 2.6 Learners gave general responses to answer this question, although the
responses are straight forward in the textbook. They confused the Entrepreneurial success
factors with managerial principles, hence they had responses such as : control, planning,
decision making skills etc.

(b) Why was the question poorly answered? Also provide specific examples, indicate
common errors committed by learners in this question, and any misconceptions.
» Most questions in question 2 were embedded to each other, and that put learners at a
disadvantage of losing some marks due to the failure to respond positively or correctly on the
first response, for example 2.4.1 to 2.4.4. which is out of 5 marks.

» Question 2.5.2 was also embedded to 2.5.1 and learners responded poorly because they wrote
the examples that are from the text book rather than the very simple responses from the
scenario. For example latest infrastructure, strong financial positions etc.

> Learners could not handle the data response questions.

> In Question 2.3.4 learners could not see the relationship between the price and the profif
instead they related the impact of the price with demand and supply.

[c) Provide suggestions for improvement in relation to Teaching and Learning

Learners should be exposed to activities that enable them to analyse and interpret the data.
Learners should be taught on how to distinguish between marketing approaches and
marketing strategies.

A variety of text books must be used by the teachers to cover all the content.

Learners should also be taught Agricultural Scientific Concepts

Educators must be well provided with a variety of textbooks and other relevant material to
the prescribed content that can assist in the teaching and learning of agricultural sciences.

YVVV VY
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(d) Describe any other specific observations relating to responses of learners

» Mark allocation must be used as a guide to answer Questions.

» Teachers should guide the learners on the use of past exam question papers with the
emphasis being on concepts.

» Learners should be encouraged to answer questions according to the given instructions.

» Subject advisers must monitor the subject teachers regularly to check the effective teaching

and learning together with the syllabus coverage in schools and to offer assistance where

needed.

Content gap workshops should be organised regularly by the subject advisers to equip with

knowledge the inexperienced new teachers in the field of teaching.

A\

[e) Any other comments useful to teachers, subject advisors, teacher development etc.

» Learners need to plan their studies well prior the exams.

» Teachers must focus on all aspects of the content that are listed on the examination
guidelines.

» Learners should relate the data in the scenarios with the information they already know.

» Learners should be made aware by both their educators and the subject advisers that
their responses must be valid and be based on the facts and be in line with the question.

[QUESTION 3

l@) General comment on the performance of learners in the specific question. Was the
question well answered or poorly answered?

Average mark from the sample of 100 :
SUB-QUESTION _[TOPIC OR ASPECT TESTED AVERAGEY% FROM SAMPLE

3.2.3 e Labour Legislation:- Give TWO e 66% Passed
examples of labour legislation that could o 34% Failed
be used to challenge the employer.

3.4.1 e Cash flow budget:- Draw up a minicash| e 70% Passed
flow budget for ONE week. o 30% Failed

3.4.2 e Net cash Income:- Determine the net e 55% Passed
cash income for ONE month. e 45% Failed

3.4.3 e Net worth:- Explain whether the net cash| o  32% Passed
income of this business can be e 68% Failed

guaranteed on the basis of its cash flow.

> Question 3 is another question that increased the poor performance of the learners in
Agricultural Science P2.

> The lowest score recorded in Question 3 was 2 marks and the highest score recorded was
24 marks.

> The poor performance in Question 3 was a result of the inability of the learners to calculate
using the correct formula, and the poorly plotted graphs without headings and units.

L.
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(b) Why was the question poorly answered? Also provide specific examples, indicate
common errors committed by learners in this question, and any misconceptions.

>

vV VvV VvV ¥V V
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In question 3.1.1 learners could not relate all the three variables simultaneously, as a resulf]
the majority scored between 3 and 4 marks in this question.

The mark on the correct type of a graph could not be scored by some learners due to the
failure to draw a line graph instead of a bar graph.

Some candidates provided only two instead of three variables in the heading of a graph, as
a result they lost 1 mark for the heading, and lost another 1 mark for not writing both units.
Question 3.1.3 and 3.1.2 were embedded to 3.1.1 and that caused a serious loss of marks
as the learners could not relate them to the graph and interpreted them correctly.

Learners could not answer well Questions 3.3.1 to 3.3.4 on the methods that are used to
increase the labour productivity in agriculture.

Calculations in questions 3.4.1 to 3.4.3 resulted in the poor answering of this question.

In question 3.2.3 learners were giving any labour legislation, rather than giving the legislation
that could be used to challenge the employers who are exploiting the employees. For
example:- Some wrote Skills development, Occupational Health And safety Act etc.

Question 3.4 was also poorly answered by the candidates because of the combination of
weeks and months as a result learners could not draw up the mini cash budget for one week|
and the net cash income for the month.

Learners did not understand the content on the scenario, as a result they could nof
determine the net cash income in 3.4.2.

Very few learners managed to score 2 full marks in 3.4.3 because the learners’ responses
were based on the results of the net cash income in question 3.4.2 rather than on the results|
of a mini cash flow budget in 3.4.1 as it was required.

Candidates could not distinguish and identify the income and expenditure items from the
scenario as a result they came out with incorrect net cash income figures.

In Question 3.5.1 learners could not associate the given statements with the correc|
problems that are associated with capital as a production factor, as a result they swiped the
responses of Question 3.5.1 and Question 3.5.3

Most learners managed to answer correctly Question 3.6.

[c) Provide suggestions for improvement in relation to Teaching and Learning

>

>

>

Teachers are encouraged to give learners all possible tasks related to graphs with more than
two variables to prepare them for examinations.

A clear instruction should be made to guide the learners on the differences between all the
financial records covered by the syllabus.

Learners should be given more scenario type questions as class works and homework.
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(d) Describe any other specific observations relating to responses of learners

>  Different legislation should be emphasised when teaching and learning occurs in schools.

>  Learners should be encouraged to read the questions first in order to provide correct answers
according to the given instructions.

>  Teachers must teach according to the annual teaching plan to cover all the expected contenf
on time and to cater for revision.

le) Any other comments useful to teachers, subject advisors, teacher development etc.

» Teachers should guide the learners on how to process data in tables and graphs.

> Learners should be taught on how to relate the data provided in the graphs and tables to the
content.

IQUESTION 4

l@) General comment on the performance of learners in the specific question. Was the
question well answered or poorly answered?

Average mark from the sample of 100 :

SUB-QUESTIONTOPIC OR ASPECT TESTED AVERAGEY% FROM SAMPLE

4.3.1 e Variation (Genetics):- Animals at higher o 27% Passed
altitudes have darker pigmentation. e 73% Failed

4.3.4 e Variation (Genetics):- Herefords kept in colder | e 35% Passed
regions have thicker hair. e 65% Failed

4.4.1 e Polygenic Inheritance (Genetics):- Determine | o 30% Passed
the net production of a laying hen with e 70% Failed
genotypes BbGgKKk.

4.4.2 e Polygenic Inheritance (Genetics):- Name the |  37% Passed
genotype that will result in 90 eggs. e 63% Failed

4.5.2 e Calculation:- Determine the number of heifers if, e 61% passed
12% of the total number of heifers are selected. | e 39% Failed

4.6.3 e Genetic Modification (Genetics):- Suggest e 36% passed
TWO socio-economic implications that plants | e 64% Failed
produced from the technique in QUESTION
4.6.1.

» Learners performed poorly in this question but much better compared to question 2 and 3.

» 2 marks is the lowest score recorded in this question and the highest score is 28 with an
average of 14 marks.

» Sub Questions on the ratios, indication of the environmental factors causing variation and
the last question on socio-economic concerns have greatly contributed on the poor
performance of this question.

» Content gap on Basic Agricultural Genetics might be a cause of this poor performance.
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(b) Why was the question poorly answered? Also provide specific examples, indicate
common errors committed by learners in this question, and any misconceptions.

>
>

Language problem is a major concern to this poor performance.

Syllabus coverage in some schools might have played a role because some learner’s
responses were extremely out of the expected content for question 4. For example they
wrote “artificial insemination” or “cloning” and some even wrote “oogenesis”.

Question 4.1.1 was only answered correctly by 31% of the candidates who wrote Agricultural
Sciences P2, 69% of the candidates got it wrong because some assumed that the LETTER B
for the second parent in the schematic representation represented the allele for a dominang
genotype B. This assumption was caused by the lack of understanding the scientific symbols
for a ram and a ewe written in the boxes for the parents 1.

Learners scored a full mark for question 4.1.2 but could not give a correct reason to supporf
their answer in Question 4.1.3 as a result most candidates scored 0 mark for 4.1.3.

Question 4.1.4 was poorly answered by the learners. Very few were able to score 3 mark for
that question. Most learners responded by writing “black and white for F and G”, and some
only wrote without indicating whether the answer is for F or G or H.

Question 4.1.5 was poorly answered by the learners. Those who attempted to answer this
Question, responded by writing 3 and 1 or 1, 2 and 1 as if they were instructed to write the
phenotype and the genotype instead of writing the ratio as 3:1 for the phenotype and 1:2:1
for the genotype.

Some learners in Question 4.1.5 swiped the responses by writing the phenotype ratio for the
genotype ratio and vice versa. For example Phenotype 1:2:1, then genotype 3:1.

The question on the environmental factors causing variation in 4.3.1 to 4.3.4 was poorly
answered.

In Question 4.3.1 candidates responded by writing sunlight instead of light intensity

For Question 4.3.3 they wrote slope or geography confusing topography with grade 10 soil
forming factors where geography is also regarded as topography.

4.3.4 Learners lost marks because they omitted to write “LOW “ as the key word for the
correct response, and only wrote “ temperature”. Writing of low as a required response is a
result of the instruction from the question : “Herefords kept in colder regions have thicken
hair *

In Question 4.4.1 learners could not get to 70 eggs as the correct answer because they
mixed the genotypes. Some had no idea of what was asked and that gave an indication thaf
the content was not clearly delivered to them.
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» Both Questions 4.4.2 and 4.4.3 were poorly answered by the learners because they are
embedded to 4.4.1 and their responses depended on that question. None of the candidates
wrote quantitative as an alternative answer.

> In Questions 4.5.2 and 4.5.3 Learners did not answer the questions very well, some wrote
425 or 51 heifers only without showing all the steps that has lead them to reach to the
answers. This might be caused by the instruction that did not instruct them to determine by
calculating but educators are advised to drill their learners to consider the marks allocated
when answering the questions.

> In Question 4.6.1 learners poorly answered this question because they could not differentiate
between the technique and the organism as a result they responded by writing genetically,
modified organism or GMO instead of genetic modification / engineering.

> Question 4.6.3 was only answered correctly by few learners, the rest only wrote the
advantages of genetic modification instead of the socio-economic effects of food from
genetically modified plants.

[c) Provide suggestions for improvement in relation to Teaching and Learning

» Learners should be taught how to calculate to score the maximum marks.

» Teachers must teach all the patterns of inheritance for the learners to be able to know the
difference between them.

» All the content according to the annual teaching plan must be taught to the learners.

(d) Describe any other specific observations relating to responses of learners

» Learners do not know the appropriate formula for calculations.

» Learners ignored the instructions in 4.1 as a result they could not answer its sub questions
correctly.

[(e) Any other comments useful to teachers, subject advisors, teacher development etc.

» Teachers must give special attention to the genetic diagrams and crosses.

» Subject advisers must organise workshops for the agricultural science educators to fill the
gap on the content.

IQUESTION 5

l@) General comment on the performance of learners in the specific question. Was the
question well answered or poorly answered?

Average mark from the sample of 100 : |
SUB-QUESTION _ [TOPIC OR ASPECT TESTED AVERAGE% FROM SAMPLE
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(b) Why was the question poorly answered? Also provide specific examples, indicate
common errors committed by learners in this question, and any misconceptions.

[c) Provide suggestions for improvement in relation to Teaching and Learning

(d) Describe any other specific observations relating to responses of learners

le) Any other comments useful to teachers, subject advisors, teacher development etc.

[QUESTION 6

l@) General comment on the performance of learners in the specific question. Was the
question well answered or poorly answered?

Average mark from the sample of 100 : |
SUB-QUESTION _ [TOPIC OR ASPECT TESTED AVERAGE% FROM SAMPLE

(b) Why was the question poorly answered? Also provide specific examples, indicate
common errors committed by learners in this question, and any misconceptions.

[c) Provide suggestions for improvement in relation to Teaching and Learning

(d) Describe any other specific observations relating to responses of learners

le) Any other comments useful to teachers, subject advisors, teacher development etc.

2016 AGRS2 Chief Marker’s Report "&, I, )
Page 11 of 11 3 Dﬂi@%’)ﬁ )

o oty SRR
Z EASTERN CAPE ™
P 2 i

building blocks for growth. Tkamva eligagambileyo!





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
    /ABCJuniorTyping
    /Arial-Black
    /Arial-BoldItalicMT
    /Arial-BoldMT
    /Arial-ItalicMT
    /ArialMT
    /ArialNarrow
    /ArialNarrow-Bold
    /ArialNarrow-BoldItalic
    /ArialNarrow-Italic
    /ArialRoundedMTBold
    /ArialUnicodeMS
    /Tahoma
    /Tahoma-Bold
    /TimesNewRomanPS-BoldItalicMT
    /TimesNewRomanPS-BoldMT
    /TimesNewRomanPS-ItalicMT
    /TimesNewRomanPSMT
  ]
  /NeverEmbed [ true
    /ABCJuniorPlain
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENS ()
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [595.276 841.890]
>> setpagedevice


